oly (SB 5 JI5 9l 23l 5 1O buwlone
SC 1*2.00

Hs m
N
Lo m
L1 0.3 m
Ley 225 m
Bk 9 m
ts 0.25 m
fy 4000 kg /cm’
fe 160 kg /em’
Yeonc 24 ton/m’
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SC 1*2.00
H= 2.2 m
Hs= 3 m
C=0
¢= 30 deg.
g2 t/ms3
Ko= 1-sin30= 0.5
Ka= (1-sin 30)/(1+sin 30)=
PO=gxHIXK0= 3
PO=gxH2xK0= 52
Psur= 1 t/m2
PsurxKo= 0.5
Ws=gxHs= 6
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SC 1*2.00

H= 22 m
B1= 0.8 m
B2= 0.55 m

Bav= 0.675

Ka= (1-sin 30)/(1+sin 30)=

p:(g*H*Ka): 1.5

Pa= 0.5*p*H*0.60= 1.0

Mo= 0.7 t.m/m

Mr= 1.3 t.m/m
F.S.= Mr/Mo= 1.8
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y=tan (30)= 0.600
W= 3.7 ton

W.WA=22 >Pa= 1.0

1«
P, | B1= 0.20 m
;E\» W‘ Bf= 1.00 m
= 0. m
BE C} ﬁ B1 tf= 0.80
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Jles! L1 P= 18.4 ton
sum= 18.4 ton
S s f= 184 ton/m2 ok
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tf= 0.80 m

Ma= *B1*B1/2= 0.37  tm ey alaia o 5
0 = Ma*6+(tf)>= 3.45 t/m? ok oy pEES S
Va= f*Bl= 3.68 ton s alafie o By
0 = Va/(1*tf)=  4.60 t/mz2 ok Ay Sy RS
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